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The Scarlet Letter – Chapter 1 
Read the following speech and answer the questions below using complete sentences. Make sure that all of the parts of the questions are answered.  All answers should be well explained and elaborate!
1. What impression comes to mind when you think of a prison door? 
2. What feeling does paragraph 1 give you with its description of the men and women? Explain your answer. 
3. What images are used to describe the prison door? 
4. What reason would Hawthorne start The Scarlet Letter with this paragraph? Explain your answer.   
5. Hawthorne writes that new towns need two public places: a cemetery and a prison. Explain what Hawthorne means. 
6. How has the prison door changed in appearance since the town was founded? What type of message does this send? Explain your answer. 
7. Hawthorne includes a real flower, a wild rosebush, in his description. What is the effect of this image? Explain your answer. 
8. What does the rose symbolize?
9. Ann Hutchinson was a religious leader in 17th century America who who attacked popular religion practices and preached for a simpler and purer religion without ministers or buildings. She was tried and banished in 1637. What is implied by suggesting that a rose might have sprung up under her footsteps? 
10. What is the tone of the opening chapter? What does Hawthorne use to create the tone? Explain your answer. 
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